## IN-0005733



Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

01/26/2023 09:00 AM | pick up from warehouse 02/04/2023 09:00 AM | drop off at warehouse PO: Shipping Address: FOUR SEASONS HOTEL 7680 Granite Loop Rd. Teton Village, WY 83025 MERRYL BROWN EVENTS LLC.

Invoice Date:	
Due Date: Upon Receipt	

Salesperson: Leigh Carter

Description		Qtty	Price		Total
FOYER					
	Bars - Carmel - Curved 6' Bar - Icon - Curved 6' - Brown Leather no foot rest; need sides for both bars so (4) sides total	2	\$400.00	Т	\$800.00
	Barback - Tokyo - Straight Basic 4' - Metal chocolate brown	2	\$200.00	Т	\$400.00
	Sofas - Manchester - Leather Sofa	3	\$400.00	Т	\$1,200.00
T	Coffee Tables - Aspen - Wood W/ Carved Legs	3	\$125.00	Т	\$375.00
	Club & Lounge Chairs - London - Pony Chair Cream	2	\$175.00	Т	\$350.00
	Club & Lounge Chairs - London - Pony Chair Brown	2	\$175.00	Т	\$350.00
	Club & Lounge Chairs - London - Cranleigh Club Chair	2	\$150.00	Т	\$300.00
	Club & Lounge Chairs - London - Concord Club Chair	2	\$150.00	Т	\$300.00
	Club & Lounge Chairs - Manchester - Exposure Club Chair	1	\$250.00	Т	\$250.00
B	Club & Lounge Chairs - Lyon - Club Chair Linen & Burlap	6	\$150.00	Т	\$900.00

2

Description		Qtty	Price		Total
A A	Barstools - Toronto - Upholstered W/ Light Wood Legs	36	\$20.00	Т	\$720.00
	Accent Pillow - Caramel Suede Cover	2	\$17.00	Т	\$34.00
	Accent Pillow - Chocolate Brown Suede Cover	4	\$17.00	Т	\$68.00
	Accent Pillow - Dark Caramel Suede W/ Piping Cover	6	\$17.00	Т	\$102.00
	Accent Pillow - Montana - Faux Fur Cow Hide	6	\$17.00	Т	\$102.00
	Accent Pillow - Montana - Faux Fur Cow Hide Lumbar	1	\$17.00	Т	\$17.00
	Accent Pillow - Brown Fur Cover	6	\$17.00	Т	\$102.00
	Blankets - Montana - Faux Fur Brown Cow Hide	1	\$25.00	Т	\$25.00
	Accent Pillow - Cream Fur W/ Caramel Suede Backing	8	\$17.00	Т	\$136.00
	Accent Table - Arabesque W/ Antique Copper Top	2	\$100.00	Т	\$200.00
Π	Accent Table - Santa Fe - Wood Derby Round	2	\$75.00	Т	\$150.00
	Accent Table - Manila - Round Carved Wood 15"	6	\$100.00	Т	\$600.00
			Total FOYER		\$7,481.00
BALLROOM					
	Bars - Carmel - Straight 10' Bar - Icon - Straight 10' - Brown Leather no foot rest; need sides for this bar	1	\$700.00	Т	\$700.00

Description		Qtty	Price		Total
	Barback - Tokyo - Straight Basic 8' - Metal painted chocolate brown	1	\$275.00	Т	\$275.00
	Communal Tables - Tokyo - 10' Communal Tables - Chicago - 10' - Reclaimed Wood Box Top frame painted chocolate brown	2	\$200.00	т	\$400.00
	Stage Front - Santa Fe - High Dark Wood	6	\$250.00	Т	\$1,500.00
	Sofas - London - Chesterfield 02	1	\$400.00	Т	\$400.00
	Coffee Tables - Aspen - Wood W/ Carved Legs	1	\$125.00	т	\$125.00
	Club & Lounge Chairs - Manchester - Wing Back Club Chair	1	\$180.00	Т	\$180.00
	Bars - Montana - Reclaimed Wood Round	1	\$2,500.00	Т	\$2,500.00
	Barback - Boston - Round W/ Plexiglass Tier Shelves painted chocolate brown	1	\$280.00	Т	\$280.00
	Dining Chairs - Toronto - Wales	130	\$20.00	Т	\$2,600.00
A	Accent Table - Madrid - Fuji Marble Top	2	\$100.00	Т	\$200.00
A	Accent Table - Madrid - Fuji Mirror Top	2	\$100.00	Т	\$200.00
Ţ	Accent Table - Madrid - Kalmar Marble Top	2	\$100.00	Т	\$200.00
A	Accent Table - Madrid - Portrack Marble Top	4	\$100.00	Т	\$400.00

Description		Qtty	Price		Total
Ţ	Accent Table - Madrid - Giusti Glass Top	4	\$100.00	Т	\$400.00
Ţ	Accent Table - Madrid - Giusti Marble Top	4	\$100.00	Т	\$400.00
	Accent Table - Madrid - Het Lo Marble Top	2	\$100.00	Т	\$200.00
	Accent Table - Madrid - Astrew Marble Top	4	\$100.00	Т	\$400.00
	Bars - Tahoe - Reclaimed Wood Folding 8'	4	\$300.00	Т	\$1,200.00
	Bars - Tahoe - Reclaimed Wood Folding 6'	1	\$300.00	Т	\$300.00
	Barback - Tokyo - Straight Basic 8' - Metal painted chocolate brown	2	\$275.00	Т	\$550.00
CTACE			Total BALLROOM		\$13,410.00
STAGE	Club & Lounge Chairs - Beverly Hills - Accent Chair Off White W/ Silver Legs	6	\$150.00	Т	\$900.00
	Accent Table - Boston - Granite Round	5	\$80.00	Т	\$400.00
			Total STAGE		\$1,300.00
LIBRARY					
	Coffee Tables - Manchester- Round Wood	1	\$200.00	Т	\$200.00
	Bars - Carmel - Straight 5' Front no foot rest; need sides for this bar	1	\$600.00	Т	\$600.00
	Barback - Tokyo - Straight Basic 5' - Metal painted chocolate brown	1	\$225.00	Т	\$225.00

Description		Qtty	Price		Total
	Club & Lounge Chairs - London - Cranleigh Club Chair	3	\$150.00	Т	\$450.00
	Accent Pillow - Caramel Suede Cover	2	\$17.00	Т	\$34.00
	Accent Pillow - Brown Fur Cover	1	\$17.00	Т	\$17.00
	Buffet And Display Tables - Napa - Dark Wood	1	\$450.00	Т	\$450.00
	Hand Props - Tray 22" Square Leather W/ Nailhead Trim	1	\$35.00	Т	\$35.00
			Total LIBRARY		\$2,011.00
Services					
	flight & transportation	1	\$1,000.00		\$1,000.00
	supervisor onsite	1	\$6,500.00		\$6,500.00
	design fee/pre-production	1	\$1,800.00		\$1,800.00
	per diem	1	\$725.00		\$725.00
	packing & supplies	1	\$1,000.00		\$1,000.00
	rental car & gas	1	\$1,700.00		\$1,700.00
	hotel room	1	\$4,975.00		\$4,975.00
	loading & unloading of trucks	1	\$800.00		\$800.00
	trucking/labor roundtrip (price estimated until booked) price includes trucking/labor/lodging	4	\$14,725.00		\$58,900.00

Please make checks payable to Revelry, Inc.	Total Products:	\$24,202.00
Note: Driver to delivering and nick upp all invalues must be new in full	Total Labor/Services/Misc:	\$77,400.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it	Taxes :	\$2,299.19
	Discounts:	(\$0.00)
Notes	Total:	\$103,901.19
	Payments:	(\$0.00)
	Balance:	\$103,901.19